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35.2.1
8a (K mwn) > 9a (5kYHY? 17 RIIN)

v,7 8777 :RIN NIRVD NATHD THO? YR DM DT INYID NITRD PR YY NRYND DTN AN .7
2,3 877 YNOYRND DOYTR WTH 11291 1IDRY NNana 10 nIph 2

2,3 877712 DT 77 NYR ANATHN ANIITR NR 1150 PVRM ANAY 92 Y AINYM ARYDN XN KON DWR PR D2N50 190K 72 DR ANAN) .3

I x mwn: stages of processing q1yn nxron
a  From w1pm n9yn attaches
b From 7775 can become 5091 if touched by by %120 or 01193 701NN or by leaving BT overnight (nyY)
i Inference: a vy 9120 can only invalidate (Y919) but not make it Xnv (such that it could generate nkmv further)
1 Attribution: 111 (in 3-way dispute with n” and %1R® Rar)
(a) &n772(7:8 11770 KNoDIN): regarding status of by 5120
(i) Sww Xax heis a w1pY NN (i.e. makes wMp-meat that he touches a nkRMYY 1Y)
(if) »77: considered like a NkMVY 2W > renders WM as RNV (MRMVY *WHY) and NPIN — only Yo
(iii) o2p5r7: just as he can only render nmn (and nMIN liquids) %109, so he can only render ¥Tp as Y109
(b) Rejection (x27): possibly, all agree that n7Inn 11 a DY Y120 doesn’t render NRMV (just 109)
(i) Sww xax 1111 made a "noyn” such that 12v is considered like a NRMYVY NYRI
(ii) »77 117 made a "nYyn” such that »av is considered like one who eats v Y918
(iii) 7227 since he was already 210, his nkmv is “weaker” and he can “only” render anything %108, not Xnv
¢ From anii (or nym— see discussion below): can become v"a and n%yn is completely lifted
i Inference: n9yn is lifted, but there is an NRIN MOR
1 Challenge: it is owned, at that point, by 0’102 — why should there be n%yn?
2 Answer (82721 77): in case it went out of NY — per Y™ (PRYVY NHYIN NPT > NP0 is lifted)
(a) But: it may not be eaten (xxv)
II  27's ruling (2 versions — dispute X”a87/811 "1 as to what he said) about indispensibility of oTn "¥n in 910 nron
a w17 ’7. dispensible — since our mwn reads nnT NN %N is of no consequence
b 727%8 92 7% 7. indispensible — he reads nnT n¥n in our Mwn
i Support: v.1 points to n¥n as that which renders it nron
1 Defense (81177 77): 78W1 means “if any remains” (per YRYnw’ 3 727 Rin)
2 And:»n nron refers to the first command (...ntm)
(a) Challenge (?wN "15 X277 77773 8K 77): v. 2 reads mnnm should mean “if any remains”
(b) But: it cannot, per Xn»12 expounding v. 3 — if any flour, oil or N112% are missing >must be nnn
(i) Answer: nIMM is an extra word, teaching that there must be nama (nnn »»w) for it to be valid
ii  Challenge (580®7 m1ax to 8277 77): =1 N1 RNAOIN — both Myn nron and MYn N5y that were pHn1 or 1¥m with intent
1 pors pirYa and s attaches
2 mpnb pir 9oa and no N3 attaches
(a) Point: nx¥n is identified as a critical (indispensible) point in both 91y n%y and gyn nxon
(b) Defense: the xnv1 is distributive — npr>n applies to both n%y and nxon; n¥m — only to %Y
III Revisiting YRynw> '3 727 RIN’s read of MwiIN (above) — meaning “if any remains”
a  Challenge: Yrynw "1 disputes ™ and claims that 01w are 20pn (in nYR2a MRYN)
i And: 9™ limits their dispute to 93yn nRYN NxN (to YRYNY’ "1 — it is indispensible)
ii ~ Answer: there are two Xin each with a different tradition about YRynw’ "1’s position
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